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1.

2.

SECTION 1 (50 MARKS )
Answer all the questions in this section

Use logarithms to evaluate

3433

] g5§’ ®t Uj,

L)
343>

S 28
0.0k

%

2 u33xd |).53b7
_
©,120C

g»ZS"ﬁw’

V525 x 0.042

- 241 2435
/

* g
"".,ED

T ~-b233 1. 3b7
, {W
WL
\ )
—= | 1ex73%T
Without using a calculator or mathematical tables, evaluate;
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(4 marks)
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(4marks)

{3 marks)




Solve for xin 9= X 32x= 27 (3 marks) |
q 2 20 2
% 5 - 3
A>C 2 3
5 3 —3%
225 = %
U= >
X — 5
76
8. A Kenyan businessman bought a car from Zimbabwe for 12,000 Zimbabwean dollars.
He sold it in Kenya at a profit of 15%. Given that 1 Zimbabwean dollar is equal to
KSh.9.8489, calculate his profit to the nearest Kenyan Shilling. (3marks)
V2 o< ) 15 | oD > PS4 — 11725 02
=g : .

\20= WS =13 goo

lzd - 9. 9L 9
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e
9. In the figure below AB parallel to DE, <ABC = 80° and <CDE = 33°. Find <BCD.

A
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of the line AB where the coordinates.of

4. Find the equatioﬁ of the perpendicular bisector
A and B are (-3, 2) and (6, 4) respectively. (3marks)
+\ 2YY -
~ 2¢—\-8 2
-8 5) |
L. ' $W-3 = ’j/pc %é).’f&'
q e
v - = — 79 5 +9.
—_—
Cr =~ 2
p

5. Three bells P, Q and R are programmed to ring after an interval of 15 minutes, 25
minutes and 50 minutes respectively. If they all rang together at 8.45 a.m, when will
(4marks)

they next ring together again. °
\$ = xS 2-Swr
7% = R % US a M | o
- 27 §7FS .3V
7P S A f‘
2 \\ A
285 < b
- ‘ﬂ
% &
6. Salim bought 4 pencils and 6 biro-pens fot Sh.66 and Muhammad bought 2 pencils
and 5 biro-pens for Sh.51. Find the price of each item. (3 marks)
40 + bl = kb by o= bt
af FSb =5 ‘ GpP — V2
'«___________———"‘—'_'—J\
¢ rbb=bb \ P=— 3
— 4¢P oo =02 — 9

4o = b

— 9 |
- \
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n of a metal bar of length 40 mm. the ends are

The figure below shows the cross sectio
equal semi-circles. Determine its mass if the density of the metal is 8.8 g/cm?.

21 mm T
30 mm
\ l Mﬂ?.LwS'(%Q—o
/ | N
= . L2 MM
S~ = 5905622
(0{\(] <\J
. 5;\b1x\o.§-ﬁ\o.g’ —;0,034}03’(;21&(\45
—3yb.yics —_—
29zl =SV 3 .25 xoaoz‘ivﬂ,zw
T e e
Q717 o 5'5-1\4«1'
- = 0. 3437
——
(1mark)

12(i) Express 98 and 72 as products of their prime factors.

q% = Z AT
2% 2KLr DS

T2 =
2
Gz 2~7
v} -
72 — 2 x5%
—_—
(ii) A rectangle of side 98cm by 72cm is subdivided into small squares each of side x cm.
J (2marks)

Find the values of x. '
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10. In the figure below, triangle A! B! C! is the image of triangle ABC under a rotation,
centre O.

B

By construction, find and label the centre O of the rotation, hence, determine the angle
of the rotation. (3 marks)
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. 2 {3marks)

LeLZycM) +3(5'7¢—'z) =2y

g+ +1S>x~b~ 2y
239C — A = A Y

13. Solve the equation

+

2x+1 5x-2
3

ZHoe = 2 b L
ox = ?':/L‘

14. A rally car traveled for 2 ﬁ%% minutes at an average speed of 120km /h. The car
consumes an average of 1 litre of fuel for every 4 kilometers. A litre of fuel costs ksh.59.
Calculate the amount of money spent rn the fuel. {3marks}

49 - 2
be > ¥~
2 % Wes. ®XTA — 4729/:
> ——
& o
. ® 120 —320kM.
>
&GZ6 e
At

15. A two-digit number is such that the suf

n of the ones digit and the tens digit is 10. If the
digits are reversed, the number formed

exceeds the original number by 54. Find the
number oy . \ (3 marks)
| 2ok 8= 2= °
| ] 2 —
| (o Y 7 ) - (m Sc +JJ ~.g;¢\ =

98 - 9x =sY%
Y -oc—= b
Yyrx =10
29 = th {

16. A farmer made a loss of 28% by selling a goat for Sh.1440. What percentage profit
would he have made if he had sold th‘e goat for Sh.2100? (3marks)
1448 ~ 727 2100 Qoo
7 - -— Z ) O . —
. N KV b 21T

t & <iloe 0
2 q0
Sl 2901019 20\&
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SECTIONII (50 MARKS)
Aunswer any five questions in this section
17. (a) Copy and complete the tables (i) and {ii) below for the functions y=7-3x
and y = 2x- 8 respectively. g
y=7-3x

(2 marks)
y=2x-8
x -4 -2 0 4 6 8 10
y -16 “12 |-8 O |4 @ | 2.
(2 marks)

a) On the graph provided and on the same grid draw the graph of y=7 — 3x

and y = 2x- 8. {4 marks)
b) What is the nature of the two graphs you have drawn? (1 mark)
c) Use your graph to solve the simultaneous equations. (1 mark)
3x+y=7

2x-7=8
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Use ruler and a pair of compasses only in thls;questlon
On the line BC given below, construct tnanglei‘ABC such that ABC = 30° and line

BA = 10 cm. = (3 marks)

b

Construct a perpendicular for A to meet BC produced at E. Measure AE. (2 marks)

(e} . Calculate the area of triangle ABC, . . e (@ maTkS)

.

(d) Using a rulcr and a set square only construct }a tragﬁezmm ABCD such that>AB DC
and AD = BC. Measure angle ACD. (3 marks)

Y
/
/

<<<<
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19.(a) On the grid provided draw triangle ABC such that A (2, 6}, B {3, 3) and C{5, 3).
(1 mark)

{(b) Triangle AIB!C! is the image of triangle ABC under the reflection y = 0. Construct and

label triangle AIBIC!. . (2 marks)
{c) AIBICE js the image of AIBIC! after a reflection on the y—ams Draw tnangle AIBICEH,
,.:“:-;;‘1':‘:?_’:;;,-:.:;;:;3':.u,,z.r,_,;‘.-,f,.,.:,,‘j..k,m. s “, L e ) (1 mark)
{d} ~ State the angle and centre of rotation that maps I’iBC onto AMBICE, (2 marks)
()  AWBECHjs the image of AUBICH under a translatioh T such that AH (-2,-2) ,BH (-3,1),
1l (-5,1). Construct ATBECH, Hence determine the'translation T. - {3 marks)
# State the order of symmetry of triangle ABC. ‘ (1 mark)
| o,
> 3
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20. The diagram below (not drawn to scale) represents the cross section of a solid metal
prism of height 8.0 cm.
2

P fff: \ ; a/‘f .3

) |

= g | Nga - A fq{;—z/u
: \/

— T

% S6cm N2
(a) Calculate the volume of the prism. , (4 marks)

‘/TL‘,QFZ'U‘FL .
F >

4,31(){\4

- -8
Zv‘P ’-L"'
tAFZE — 7

G 22K
= 71-‘560\"}

—_—
(b) Given that the density of the prism is 5.75 g/cm?, calculate its mass in grams.

b — ?; (2 marks)

M- DaY.
575729

Aygq. 528

—————

(c) The prism above is recast into a small cylindrical pipe with the external and internal
diameter 1.84 cm and 1.62 cm respegtively. Determine the length of the pipe.

(Use = 3.142) 2.{96‘\* 2. DLLs-__@-—I;aEKS)Cib
0.6k = 72.96
W= T72:96
= O‘b _
—12). b
—
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21. Former Electricity posts A, B,Cand D standon a level ground such that B is 2lmona

{a)(@) Using a scale of 1 cm represent 3 m, draw a diagram to show the relative position of

the posts.
@  Find the distance and the bearing of C from D,
(b)) Find the distance of AC in meters.

{4 marks)

(2 marks)

(ii) The height of the postat Ais84 mona Separate scale drawing, mark and determine
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Three business men Onyango, Abdul and Mwangi decided to buy a bus. The marked

price of the bus was Sh.2, 800, 000. The dealer agreed that the three men could pay a
deposit of 60% of the money and the rest to be pgid within one year. Onyango, Abdul
and Mwangi raised the deposit in the ratio 3:2:5 respectively. The balance was to be
paid to the dealer from the proceeds of the bus in the same ratio as the deposits.

During the year the bus realized Sh. 2,080,000 r

a) How much of the deposit did Abc}ul contribute? (3 marks)
2 8 6D s&® <00
\ 2
/
;/ +\b ¢ 00 ¢
VA
O O
}(7,00
£/ =
b) By h(;lv: ml.cl)ch mdre did Mwangi 1pay than of the remaining amount at the‘;}nd of ;g)e
year than Unyango. ! mar,
v29,q08
g@ﬁzozqoaw %7‘ Wyen u 0,000
| 0o ~N O S0, 23bv2 0
M) .. \,ow,o M —_— W
| cosop S xnzooe P
s\ & % 22" & ek 22y, ®9
(1 " M 355 ())50 v —_
b2u,vw® T .
O S\
c) After paying the remaining amodnt at the end of the year, how much money was
Onyango left with, (3 marks)
LW2y, P
~ 33b 90
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2. A train left Mombasa op, Monday evening and traveled to Kisumy according to the trave]
W. The train g in Kj i i f

€ table bejq The arrived jn Kisumy op Wednesday mormning of the same
Wweek. P
Mombag, Dep. 193¢ h
Mtito Ande; Arr. 09501
Dep. 0335 h
Nairobj Arr., 1050
Dep. 1244 h
Nakur Arr. 1900 x
Dep. 2015 n
Kisum Arr. 0999 h
aj Determine the time the train took to trave} between
i) Mombasa ang Mtito Ande; (1 mark)
L'_ |& 0 .
8 - } 0 7 - 2.0 L\,(_(
AR 30 -
ii) Mtito Andej ang Nairob; (1 mark)
1057 _
~ 0z 33
~ /.-I’T_r—g—— .
) Najrob; and Nakury (1 mark)
1970
620 hos .
i Nak; d Kisumy - (1 mar). -
iv) uru an‘ 5 sd 2. g
20 ) LAY .
345 12 A4S heS
b) Calculate the total time for the whole journcy. 4 marks)
Lf 2,0 W) . ’

747
%{5'

12 00 ™
37, S o).

gz,\q"l/l’\ -
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24. The figure below shows a circle centre O and radius 21 cm. The minor arc ABC
subtends an angle of 120° at the centre of the circle. (Take nn =—273).

(a) Find the area of the ngnor sector OA]%C. (2 marks)
\V-C 22 2|
"%ga o
22 12| = Lpbzc«ﬁ

(b) Find the length of the arc ABC. (2 marks)
t‘t& ~ 2K 27—- mlz ‘

> D huee

(c)  The sector is cut off and folded to form a hollow cone. Find the base radius of the cone.
(2 marks)

2! Y";l

J
2WW— Y L/'
)
W — 22
N — m,l
p
{d) Calculate to one decimal place the vertical height of the cone (2 marks)

— h— [aGreal ,
“—W N P 19 8¢

{e) Calculate to the nearest whole number the capacity of theccone. (2 marks)
[~

Jé%z//;’f?%hd?-fé | 30459 | L

e —

22 £7 X (¥ > T
crrx’
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